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{Ytﬂ = Ct+1 + 1+ Gt+l
Ci=Co+c(YV, - T)
Therefore we have

Y,=C,+c(Y,—-T,)+1,+G;
Y,=C,+c(Y,-T)+1,+G,
Y,=C,+c(Y,-T,)+ 1, +G;

}:Ytﬂ = CO +C(Yt _Tt) + It+1 +Gt+1

AssumethatT, =T,I, =1,fort=1,2,3,4,.....
butG, <G,,and G, =G, fort =2,3,4,.....
DefineAG =G, -G,
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45 degree

The Keynesian Cross: 45 degree analysis

Yia=Co+c(Y, -T) + 1, +G,

Yt+1 = Co +C(Yt _Tt) + It+1 +G1
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Y=C+I1+G
=Y =C,+c(Y-T)+1+G
C=C,+c(Y-T)
vy C,—CcT+1+G LAY = —CAT + Al + AG
1-c 1-c
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TAG 1-c 1-c AT
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If AT = AG, then 2 =17¢ _4

AG 1-c
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The IS curve
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L(i,Y)=L(r+7,Y)
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L(,Y) =L(r+7,Y)
L(i,Y)=L(r+=,Y,,)

L or M4



The LM curve
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The IS-LM model
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Mathematics I1s easier!

The IS- LM model consists of two equations
with two unknown variables.
S(r,Y)+T -G =1(r)
L(A,Y)=L(r+~z,Y)=M
By taking total derivatives, we have
S, dr+S,dY +dT —dG =1.dr
L.dr+L,dy =dM
where the subscripts denote the partial derivatives such that
S, >0, S, >0, I, <0. L, <0, L, >0.
With dT =dG =dM =0, we obtain
dr

For IS, y = >y <0 for IS, and j—rz—i>0 for LM.

r r r
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